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The Test of Listening Competence of Technical English for Communication

Directions: This English Listening test consists of 10 questions. Each question is between
a man and a woman, After each conversation you will hear 3 questions. You will hear
the conversations and the questions only once, so listen carefully to what is said. After
you hear a question, read the four possible answers and decide which one is the best
answer. Then, on your answer sheet, mark the answer you have chosen. Answer all

questions based on what is stated or implied by the speakers.

Example conversation:

You will hear:
Man: Look, this drill is no goed.
Woman: I' m sorry sir, What's the problem?
Man: | boughtitlast week and it doesn't work.

Woman: Oh, | see; Do you have your receipt?

Example question:

Who is probably talking in this dialogue?
a) a students and his friend
b) a mother and a son
¢) ateacher and a student

d) a shopkeeper and a customer

The best answer to the question” Who is probably talking in this dialogue?” is “d".
“a shopkeeper and a customer.” Therefore, mark (X) on the answer sheet under the

letter “d". -

Now listen to the test. Remember, you are not allowed to take any notes or write in your

test.
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Questions 1to 3 are based on conversation # 1.

Woman: Hello, What can | do for you?
Man: Well. | need some steel reinforcement bar.
Woman:  How much do you need?

Man: Let's see...20 metres of 10 miliimetres. bar should be enough.

Question 1. Who is probably talking in this conversation?
a) a student and his friend
b) a driver and a passenger
c) asecretary and a manager

d)} shopkeeper and'a customer

Question 2. Where does the conversation probably take place?
a)  at a high school
b} ata supermarket
¢) ata petrol station

d) atabuilding supplies store

Question 3. What are they talking about?
a} wire
b) nails
c) electric goods

d) steel reinforcement bar
Questions 4 to 6. are based on conversation # 2.

Man: Excuse me, can | get a new tin of shellac, please?
Woman: Sorry, there isn't any left in the store. Here, use this varnish.
Man:  This? | didn't know you could use this on the chairs?

Woman: You can use it on any wooden furniture.



Question 8. Where does this conversation probably take placeat home
a) athome
b) atthe bank
¢} ata junior high school

d) ata car service station

Question 9. What are they talking about?
a) thecar
b) the tyres
c) the petrol
d) the fuel tank

Questions 10 to 12 are based on conversation # 4.

Man: Jane, do you know how to put the paper in?

Woman: Yes of course. Just open the drawer on the side and put it in.

Man: Do | have to switch it off?

Woman: No. It's ready to copy now.

Question 10. What doesthe man want?
a) / to fix the copier
b) to refill the paper
¢) to check the copier

d) tochange the new copier

Question 11. What probably happened just before this conversation?
a) The power failed .
b} The machine broke down.
¢) The man fixed the machine.

d) The machine ran out of paper.
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Question 12. What best describes the woman attitude toward the man?
a) rude
b) mean
¢} helpful

d) serious
Questions 13 to15 are based on conversation # 5.

Woman: Never weld without proper safety gear. You could get hurt.
Man: What kind of gear?
Woman: Protective clothing. Today, we’ll practice welding with a helmet, goggles
safety boots and gloves.

Man: I've never used them before.

Question 13. Who is probably talking in this conversation?

a) awife and her husband

o

) adriver and a passenger

O

d

) atrainer and a new worker
) a sales assistant and a customer

Question 14. Where does this conversation probably take place?
a) ata bank
b) ata clinic
¢) ata post office

d) ata training centre

Question 15, What are they talking about?
a) a welder
b) some workpieces
c) safety equipment

d) some welding rods

63

¥



64

Questions 16 to 18 are based on conversation # 6.
Woman: Hey! Stop smoking in here! How many times do | have to tell you!
Why don't you ever listen to me?
Man: What do you mean? Everyone else smokes in here.
Woman: This is your last chance. Once more and you're out!

Man: Qk, ok. I'll go outside.

Question 16. What does the woman want the man to do?
a) to go outside
b) to stop talking
c) to stop working

d) to stop smoking

Question 17. What probably happened just before this conversation?
| a)’ The man smoked in a church.
b) The man smoked inside a factory.
c) The man smoked outside a factory.

d) The mansmoked in a smoking area.

Question 18. How does the woman probably feel?
a)-angry
b) scared
c) anxious

d) ashamed

Questions 19 to 21 are based on conversation # 7.
Man: What material are we using for the wings?
Woman: | decided to use titanium,
Man: It's really expensive.
Woman: But titanium is lighter and much more durable. This is a high guality plane.

Man: | guess you're right. It will last much longer. Let's do it.



Question 18. Who is probabily talking in this conversation?
a) adoctor and a patient
b) a customer and a waiter
¢) an security guard and a driver

d) an design engineer and a pilot

Question 20. Where does the conversation probably take place?
a) ata marine workshop
b) at an aeronautical centre
c) at an electronics \;\/orkshop

d) atan electrical department

Question 21. What ara they talking about?
a) the color of steel
b) the price of steel
c) the size of planes .

d) types of metal parts
Questions 22 to 24 are based on conversation # 8.

Man: Excuse me. Can | borrow your wheel brace?

Woman: 1 don’t have one in my car. Why don't you use my husband’s socket set

Instead?

Man: Hey, that's perfect!

Question 22. What does the man want to do?
a) to fix his car
b} to change a tyre
¢} to replace the battery

d) toremove the engine
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Question 23, What probably happened just before this conversation?
a) His car crashed,
) His car broke down.
¢) His car had a flat trye.

d) His car ran out of petrol.

Question 24. How does the man probably feel?

a) sorry

b) nervous
c) worrled

d) satisfied

Questions 25 to 27 are hased on conversation # 9.

Man: This is our main production line,
Woman: Can you tell me how it works?
Man: Of course. Much of the work is done by robots. The chassis are welded
by robots, the bodies are added by robots and even a lot of the interior
construction is automated.

Woman: <| see.

Question 25. Who is probably taking in this conversation?
a) a manager and a clerk
b) awaiter and a waitress
¢} astudent and a student

d) a visitor and a factory manager
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Question 26. Where does the conversation probably take place?
a} ina car factory
b) inatraining centre
c) inarecycling plant

d) ina rubber processing factory

Question 27. What are the people talking about?
a) how cars work.
b} how robots work.
¢) how cars are made

d) how robots are'made
Questions 28 to 30 are based on conversation # 10.

Man: Can you turn on the generator for me? the powar's out.
Woman: Umm. How does it work?
Man: Oh, OK. First, open the yellow cover. You'll see a key inside.

Turn it to the 'run” position. Then just press the green button and it should start.

Woman: Got i{ |

Question 28, What does the man want the woman to do?
a) to fix the generator
b) to sell the generator
c) to buy the generator

d) to switch on the generator



Question 298. What probably happened just before this dialogua?
a) The generator broke.
b) The electricity went out.
c) The generator disappeared.

d) The bolts were the wrong colour.

Question 30. How does the woman probably feel?
a) proud of herself
b) angry with herself
c) ashamed of herself

d) disappointed of herself
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7 P, P p r 8 P, P p r
1. 081 019 050 061 16. 092 025 061 0.68
2. 066 030 048 0.36 17. 089 022 057 067
3. 081 015 047 065 18, 0.89 0.5 053 0.72
4. 081 0415 047 065 19. 078 022 050 0.55
5. 089 022 057 0.67 20. 089 025 059 0.64
6. 081 022 052 058 21085 022 054 062
7. 081 025 054 056 22, 089 019 055 067
8. 078 025 052 053 23. 085 025 056 060
9. 081 025 (054 056 24. 085 019 053 065
10. 0.9 019 0.55 0.6 25. 085 022 054 062
11. 089 019 055 0.69 26. 074 025 049 0.9
12,085 019 053 0.65 27. 089 049 055 0.69
13, 081 025 054 056 28 0.85 025 056 0.60
4. 085 0.15 050 068 20. 070 037 054 034
15, 070 025 048 046 30. 085 030 059 056
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fa p q fole 18 p q fole
1 0.53 0.47 0.25 16. 0.55 0.45 0.25
2 0.53 0.47 0.25 17. 0.53 0.47 0.25
3 0.53 0.47 0.25 18. 0.53 0.47 0.25
4 0.52 0.48 0.25 19. 0.54 0.46 0.25
5 053 0.47 0.25 20. 0.54 0.46 0.25
6 0.54 0.46 0.25 21. 0.53 0.47 0.25
7 0.52 0.48 0.25 22, 0.53 0.47 0.25
8 0.53 0.47 0.25 23, 0.52 0.48 0.25
9 0.53 0.47 0.25 24, 0.52 0.48 0.25
10 0.54 0.46 0.25 25. 0.54 0.46 0.25
11 0.52 0.48 0.25 26, 0.52 0.48 0.25
12 0.54 0.46 0.25 27, . 053 0.47 0.25
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Al X X AL X X
1. 5 25 29. 10 100
2, 5 25 30. 10 100
3. 5 25 31, 10 100
4, 5 25 32. 11 121
5. 5 25 33, 11 121
6. 5 25 34, 11 121
7. 5 25 35, 11 121
8. 6 36 36. 12 144
9. 6 36 37. 12 144
10. 6 36 38. 12 144
11, 6 36 39, 12 144
12, 6 36 40, 12 144
13, 6 36 41, 13 169
14, 7 49 42, 13 169
15, 7 49 43, 13 169
16. 7 49 44, 13 169
17. 7 49 45, 14 196
18, 7 49 46. 14 " 196
19. 8 64 47, 14 196
20, 8 64 48, 14 196
21, 8 64 49. 14 196
22, 8 B4 50. 14 198
23. 9 81 51, 15 225
24, 9 81 52, 15 225
25. 9 81 53, 15 225
26. 9 81 54. 15 225
27. 9 81 55. 15 225
28. 10 100 56. 16 256
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il X s e X X
57. 17 289 83. 22 484
58. 17 289 84, 22 484
59, 17 289 85. 22 484
60. 17 289 86. 23 529
61. 18 324 87. 23 529
62. 18 324 88. 23 529
63; 18 324 89, 23 529
64. 18 324 90, 23 529
85, 19 361 91, 23 529
66. 19 361 92. 23 529
67. 19 361 93. 24 576
68. 19 361 04, 24 576
) 20 400 95, 24 576
70. 20 400 96. 24 576
71. 20 400 a7. 25 625
72. 20 400 98, 25 625
73. 20 400 99. 25 625
74. 21 441 100. 25 825
75. 21 441 101. 25 625
76. 21 441 102. 25 625
77. 21 447 103, 26 676
78. 21 441 104. 26 676
79. 21 441 105. 26 676
80. 21 441 108. 26 876
81. 22 484 107. 26 676
82. 22 484 108. 27 729
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Al X X ALLdl X X
109. 27 729 111. 27 729
110. 27 729
2x  =1772
DX =133590
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